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Section-A = '
' (PHYSICS)

(Long Answer Type Quesuons)

I. Draw the ray diagram and find position, nature and size -of image

formed by a convex lens when the object is placed between focus

: and twice Lhe focus (f and 2)).

Or

An object 5 cm in length is held 25 cm away from a convergmg

!cns of foca] length 10 c¢m. Draw the ray dlagram and find |he.
pos:uon. size and the nature of image formed,
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(2)
" (Short Answer Type Questmns) - 4each

Dcﬁnc magnification of a spherical mirror, What will be the

‘magnification in case of a plane mirror 7
Oor

What are the Cartesian sign conventions used in spherical mirror 7
3 Explain in brief dispersion of light. '
.. Or
Explain why the Sun appears red at sunrise and sunset ?
~ What is electric energy ? What is its commercial unit ?
Or

Why are coils of electric toasters and electric irons made of an alloy

rather than that of a pure metal ? .
(Very Short Answer Type Questions) ~ 2each

5. What is the principle of electric motor ?

What are the advantages of nuclear energy ?

7. Def‘ ine Fleming's right hand rule. .
(Multiple Choice Questions) 1 each

(i) Defect of eye which can not be corrected by using spectacles

8.
is : N .
@ Myopia
(b) sbyopia
e Cataract | |
' | '(Choose the correct one)

(d) Hypermetropia
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(ii) Which of the following source is not desived from the sun 7
(2) Biomass
A7 Wind
(¢) Hydmc]cczricily
(d) Geothermal

(1) The commercial unit of clectiic energy i -

(a) watt
(b) kilowatt

-~
&)—kilowatt-hour

(d) kilo-volt
(iv) At the time of short circuit, the current in the circuit -

(@) reduces substantially

(b) does not change

(c) increases rapidly

(d) various continously

Section-B
(CHEMISTRY)

e a (Long Answer Type Questions)
9.. Describe the important chemical properties of carbon compounds.
| Tllustrate answer with examples.

e IDcscnbc bneﬂy the Physical and Chemical properties of Ethanoic
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( 4) |
s . o 4,
(Shurt Answer TJ!’I"'-3 ngqﬂon) -y
- 'on 1 Explain wj
10. What do you understand by displacement reacllﬂn: prait with
fwo examples. '
Oor

What is Corrosion ? Give fwo ways to prevent corrosion of metals

1. Write down any fhree chemical properties of nOR- m"f"’ﬂs

Or

Why are decomposition reactions called dpposita of - combination

reactions ? Write equations for these maCthIlS

T i —

Or
How does th§ reactivit)\) of the{{metals’ vary) in & grmig_)? .
(Very S_ﬁ?lrt Answer Type Questions) o Jex

.

13; Explain in brief the cleansing action of ‘soaps and detérgents.

L :rl,

- 14. Why do acids not show acidic beha‘viourlin the absence of water !

15. . Why does distilled water not conduct electricity, whereas rain water

,d_ocs?
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e
s _ (Mulhple Cholce Quesﬂons) R each
16 ﬁ) Burmng of coal is s . |
,La) Exolhcrrmc reaction - .. o . : -
Oxld:mon reacnon ‘ |
(C) | Endathemnc reaction
@ Boh (@ and )
(‘1) pH of pure water is
&) 7
NOX:
(e 8
@9
(iii) Acid rain has pH :
() ,more than 56
é/(b) less than 56
() .7
(0 14 |
(xv) 'nw chermcal formula
(3 CaCh
(b) CaSO_,‘ | - | N o

of bleaching powder is




(6)

" Section-C .
(LIFE SCIENCE)
(Long Answer Type Questions)

17. Explain ; .
' PIAin in brief the exchange of gases in Lungs.

Or

Describe in brief human alimentary canal with the help of a suitable

diagram.
(Short Answer Type Questions) 4 each
18. Explain the following :
(i) Hydrotropism.
(if) Chemotropism

Or

What are the functions of Auxins ?
19. What are the different methods of contraception ? e

Or

How does reproduction help in providing stability 't_o population of |

species ?
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4o (Very Slmrt Answer Type
i, ..What is vVegetative Propagation 2

Questions) 2 each

E 32,-"What is ozone layer ?

' 23 What 13 water harvcsllng 9

| (Multiple Choice Questions) 1 each
24 (i)— Biotic components include :

| l(a)- ‘producers only

(b) consumers only

producers and consumers only

‘)d')/produccrs consumers and decomposers
ary consumer in a pond ecosystem ?

(u) Whlch one is a prim

(a)- Green algae

5 . Mplankton

@ Snake -
(d) Bactena
| 'i"urn‘()_‘-f_qf
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o '. (m} Loss of bologrcal dnersnty is lhc rt:sult nf R
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| o ® Afforestanon S ;’ R -
(C) Sml crnsmn_l"‘ | _
R Ly @ All of thcsef'

(w} Greatest problem for water conservauon 15 to reduce the amount :

o ef _
B . -‘ ) M off-watei-
(b) EvaporaUUn |

o _(C) Precipitation

(d) Ground water
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